
Page  36 GEM Parts Catalog

ASSY, ACCELERATOR PEDAL -
ITEM PART NO. DESCRIPTION QTY.

1 0148-01000 ASSY, PEDAL - ACCELERATOR 1

2 0521-00050 NUT, HEX - NYLOCK 1/4-20 UNC GR5 ZN 3

3 0522-00201 BOLT, HEX - 1/4 - 20 UNC X 2.25 GR5 ZN ZINC PLATED 1

4 0522-00365 BOLT, HEX -  1/4 - 20 UNC X 3.75 LG GR 5 ZNC PLT 2

5 0524-00062 WASHER, FLAT - 1/4 .282 ID X .715 OD X .063 THK ZN 6

L0148-00984

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  37GEM Parts Catalog

ASSY, CONVERTER - 72 V/12V 30 AMP (SURE POWER)
ITEM PART NO. DESCRIPTION QTY.

1 0521-00071 NUT,KEPS - 1/4 - 20 UNC ZINC PLATED GR 5 ZINC PLATED 4

2 0606-00421 CONVERTER, 72V/12V - 30AMP 1

3 0606-00485 FUSE, CERAMIC TUBE - FAST-ACTING - 15AMP 1

L0106-01060

L0106-01058

ASSY, CHARGER - 72 V 12 AMP (DELTA Q)
ITEM PART NO. DESCRIPTION QTY.

1 0521-00071 NUT,KEPS - 1/4 - 20 UNC ZINC PLATED GR 5 ZINC PLATED 4

2 0606-00423 CHARGER, 72 V - 12 AMP (DELTA Q) - 1

3

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  38 GEM Parts Catalog

ASSY, EXTERIOR CHARGING INLET, 15A/125VAC, NEMA 5-15
ITEM PART NO. DESCRIPTION QTY.

1 0110-00832 ASSY, EXTERIOR CHARGING INLET HOUSING 1

2 0306-01135 CORD, EXTERIOR CHARGING INLET 1

3 0350-01133 DECAL, EXTERIOR CHARGING INLET - EMBLEM 1

4 0350-01134 DECAL, EXTERIOR CHARGING INLET - FILLER 1

L0106-00831

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  39GEM Parts Catalog

ASSY, CONTROL - ELECTRIC MOTOR 5 HP
ITEM PART NO. DESCRIPTION QTY.

1 0521-00071 NUT,KEPS - 1/4 - 20 UNC ZINC PLATED GR 5 ZINC PLATED 6

2 *0606-00410 CONTROL, ELECTRIC MOTOR - 5 HP 72 V 12 IN WHL ( When ordering a replacement controller,

please specify the vehicles battery type and wheel/tire type and size. 1

3 0106-01047 ASSY, CABLE   MA1 TO CA1 1

4 0106-01048 ASSY, CABLE   MA2 TO CA2 1

5 0106-01049 ASSY, CABLE   MF2 TO CF2 1

6 0106-01050 ASSY, CABLE   MF1 TO CF1 1

L0106-01059

*

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  40 GEM Parts Catalog

L0106-01129

ASSY, CABLES - 2005
ITEM PART NO. DESCRIPTION QTY.

1 0106-01038 ASSY, CABLE 72+ MC+ 1

2 0106-01039 ASSY, CABLE MC- TO POS 1

3 0106-01040 ASSY, CABLE NEG TO 72GND 1

4 0106-01070 ASSY, CABLE +72 TO DSW 1

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  41GEM Parts Catalog

ASSY, WIRE HARNESS - 2005 2P
ITEM PART NO. DESCRIPTION QTY.

1 0106-01026 ASSY, WIRE HARNESS - FRONT 1

2 0106-01027 ASSY, WIRE HARNESS - CONVERTER 1

3 0106-01029 ASSY, WIRE HARNESS - CONTROLLER 1

4 0106-01097 ASSY, WIRE HARNESS - TAILLIGHT 1

5 0106-01137 ASSY, REAR HARNESS AND CABLE (SHORT) 1

8 0523-00032 SCREW, HEX - WASHER HEAD SELF DRILL 1/4 1

9 0606-00475 CLAMP, CABLE - LOCKING 2

ASSY, HARNESS - 2005 4-PASS
ITEM PART NO. DESCRIPTION QTY.

1 0106-01026 ASSY, WIRE HARNESS - FRONT 1

2 0106-01027 ASSY, WIRE HARNESS - CONVERTER 1

3 0106-01029 ASSY, WIRE HARNESS - CONTROLLER 1

4 0106-01097 ASSY, WIRE HARNESS - TAILLIGHT 1

6 0106-01130 ASSY, REAR HARNESS AND CABLE 1

8 0523-00032 SCREW, HEX - WASHER HEAD SELF DRILL 1/4 1

9 0606-00475 CLAMP, CABLE - LOCKING 2

ASSY, WIRE HARNESS - 2005 SHORT BACK
ITEM PART NO. DESCRIPTION QTY.

1 0106-01026 ASSY, WIRE HARNESS - FRONT 1

2 0106-01027 ASSY, WIRE HARNESS - CONVERTER 1

3 0106-01029 ASSY, WIRE HARNESS - CONTROLLER 1

5 0106-01137 ASSY, REAR HARNESS AND CABLE (SHORT) 1

7 0106-01128 ASSY, TAIL LIGHT HARNESS W/ GND - LNG BK 1

8 0523-00032 SCREW, HEX - WASHER HEAD SELF DRILL 1/4 2

9 0606-00475 CLAMP, CABLE - LOCKING 2

10 0510-00154 CLAMP, P 3/8 STL/BLK VINYL COATED 2

ASSY, WIRE HARNESS - 2005 LONG BACKP
ITEM PART NO. DESCRIPTION QTY.

1 0106-01026 ASSY, WIRE HARNESS - FRONT 1

2 0106-01027 ASSY, WIRE HARNESS - CONVERTER 1

3 0106-01029 ASSY, WIRE HARNESS - CONTROLLER 1

5 0106-01137 ASSY, REAR HARNESS AND CABLE (SHORT) 1

7 0106-01128 ASSY, TAIL LIGHT HARNESS W/ GND - LNG BK 1

8 0523-00032 SCREW, HEX - WASHER HEAD SELF DRILL 1/4 3

9 0606-00475 CLAMP, CABLE - LOCKING 2

10 0510-00154 CLAMP, P 3/8 STL/BLK VINYL COATED 2

NOTE: Use the following 3 pages for the part numbers listed below.

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  42 GEM Parts Catalog

1

3

2

ITEM PART NO. DESCRIPTION QTY.

1 0106-01026 ASSY, WIRE HARNESS - FRONT 1

2 0106-01027 ASSY, WIRE HARNESS - CONVERTER 1

3 0106-01029 ASSY, WIRE HARNESS - CONTROLLER 1

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  43GEM Parts Catalog

4

5

ITEM PART NO. DESCRIPTION QTY.

4 0106-01097 ASSY, WIRE HARNESS - TAILLIGHT 1

5 0106-01137 ASSY, REAR HARNESS AND CABLE (SHORT) 1

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  44 GEM Parts Catalog

6

7

ITEM PART NO. DESCRIPTION QTY.

6 0106-01130 ASSY, REAR HARNESS AND CABLE 1

7 0106-01128 ASSY, TAIL LIGHT HARNESS W/ GND - LNG BK 1

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  45GEM Parts Catalog

ASSY, PSDM
ITEM PART NO. DESCRIPTION QTY.

1 0251-00174 WLD, PSDM PLATE 1

2 0521-00071 NUT,KEPS - 1/4 - 20 UNC ZINC PLATED GR 5 ZINC PLATED 6

3 0606-00420 CONTACTOR, MAIN 1

4 0606-00436 MODULE, POWER & SIGNAL DISTRIBUTION 1

5 0606-00445 SWITCH, DISCONNECT - 100A 1

6 0650-00460 DECAL, FUSE BLOCK 1

7 0606-00476 FUSE, ATC-1 2

8 0606-00293 FUSE, ATC-10 4

9 0606-00474 FUSE, CARTRIDGE - 10 AMP SLO-BLO 3

10 0606-00454 CAPS, FUSEHOLDER 3

L0106-01034

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  46 GEM Parts Catalog

ASSY, BATTERY CABLE 05
ITEM PART NO. DESCRIPTION QTY.

1 0106-01036 ASSY, CABLE  B3+ TO FUSE 1

2 0106-01042 ASSY, CABLE   B1+ TO B2- 1

3 0106-01043 ASSY, CABLE   B2+ TO B3- 1

4 0106-01044 ASSY, CABLE   FUSE TO B4- 1

5 0106-01045 ASSY, CABLE   B4+ TO B5- 1

6 0106-01046 ASSY, CABLE   B5+ TO B6- 1

L0106-01213

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  47GEM Parts Catalog

L0106-01160
ASSY, BATTERY LEAD ACID FLD-REAR HLD DWN
ITEM PART NO. DESCRIPTION QTY.

1 0201-00138 WELDMENT, REAR BATTERY HANDLE 1

2 0306-00996 KNOB, 1/4 - 20 3 PRONG 1

3 0306-01364 BRKT, BATTERY HOLDDOWN 1

4 0510-00286 HOOK, J REAR PIVOT TUBE HOLD DOWN ZINC PLATED 2

5 0510-00287 PIN, LYNCH 3/16" ZINC PLATED 2

6 0510-00336 HOOK, J THREADED 1/4 - 20 UNC X 4" 3

7 0510-00342 O-RING, 3/32 C/S X 7/32 ID X 13/32 OD 1

8 0521-00050 NUT, HEX - NYLOCK 1/4-20 UNC GR5 ZN 2

9 0521-00244 NUT, HEX - 5/16-18 STAINLESS  - 12

10 0524-00062 WASHER, FLAT - 1/4 .282 ID X .715 OD X .063 THK ZN 2

11 0524-00152 WASHER, LOCK  5/16 INTERNAL TOOTH ZINC PLATED 12

12 0606-00050 BATTERY, 12 VOLT DEEP CYCLE - 6

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  48 GEM Parts Catalog

L0106-01161

ASSY, BATTERY LEAD ACID GEL-REAR HLD DWN
ITEM PART NO. DESCRIPTION QTY.

1 0201-00138 WELDMENT, REAR BATTERY HANDLE 1

2 0306-00996 KNOB, 1/4 - 20 3 PRONG 1

3 0306-01364 BRKT, BATTERY HOLDDOWN 1

4 0510-00286 HOOK, J REAR PIVOT TUBE HOLD DOWN ZINC PLATED 2

5 0510-00287 PIN, LYNCH 3/16" ZINC PLATED 2

6 0510-00336 HOOK, J THREADED 1/4 - 20 UNC X 4" 3

7 0510-00342 O-RING, 3/32 C/S X 7/32 ID X 13/32 OD 1

8 0521-00050 NUT, HEX - NYLOCK 1/4-20 UNC GR5 ZN 2

9 0521-00335 NUT, 3/8-16 FIN. HEX NUT, 18-8 STAINLESS  - 12

10 0524-00062 WASHER, FLAT - 1/4 .282 ID X .715 OD X .063 THK ZN 2

11 0524-00178 WASHER, LOCK  3/8 INTERNAL TOOTH ZINC PLATED 12

12 0606-00364 BATTERY, 12 VOLT-GEL DEEP CYCLE - 6

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  49GEM Parts Catalog

ASSY, COLUMN STEERING 2&4 PASS
ITEM PART NO. DESCRIPTION QTY.

1 0106-01030 HARNESS, INSTRUMENT PANEL 1

2 0305-01271 COWL, RH 1

3 0305-01272 COWL, LH 1

4 0305-01273 COWL, FRONT 1

5 0523-00407 SCREW, MACHINE TORX PAN HEAD #6-19x.50 10

6 0523-00413 SCREW, MACHINE-TORX PAN HD M4x.7x16mm LG 2

7 0606-00415 SWITCH, DRIVE MODE 1

8 0606-00416 SWITCH, TURN SIGNAL 1

9 0606-00417 SWITCH, LIGHT 1

10 0606-00418 SWITCH, TRIP 1

11 0606-00419 DISPLAY LCD DRIVER 1

12 0617-00471 PLUG,SCREW COVER 2

13 0906-00017 KEY SW KIT W/T-HANDLE 1

14 0112-00987 ASSY, COLUMN STEERING 2&4 PASS 1

L0112-00987

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  50 GEM Parts Catalog

ASSY, COLUMN STEERING L&S BACK
ITEM PART NO. DESCRIPTION QTY.

1 0106-01030 HARNESS, INSTRUMENT PANEL 1

2 0305-01271 COWL, RH 1

3 0305-01272 COWL, LH 1

4 0305-01273 COWL, FRONT 1

5 0523-00407 SCREW, MACHINE TORX PAN HEAD #6-19x.50 10

6 0523-00413 SCREW, MACHINE-TORX PAN HD M4x.7x16mm LG 2

7 0606-00415 SWITCH, DRIVE MODE 1

8 0606-00416 SWITCH, TURN SIGNAL 1

9 0606-00417 SWITCH, LIGHT 1

10 0606-00418 SWITCH, TRIP 1

11 0606-00419 DISPLAY LCD DRIVER 1

12 0617-00471 PLUG,SCREW COVER 2

13 0906-00016 KEY SW KIT 1

14 0112-01025 ASSY, COLUMN STEERING L&S BACK 1

L0112-01025

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  51GEM Parts Catalog

ASSY, HORN
ITEM PART NO. DESCRIPTION QTY.

1 0523-00032 SCREW, HEX - WHSD 1/4 X .75 ZN - - 1

2 0606-00189 HORN 1

ASSY,  FUSE -BATTERY
ITEM PART NO. DESCRIPTION QTY.

1 0606-00443 FUSEHOLDER 1

2 0523-00408 SCREW PHILLIPS FLAT HEAD 12-24-1.0 2

3 0606-00060 FUSE, BATTERY - 250A  - 1

L0106-00474

L0106-01139

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  52 GEM Parts Catalog

ASSY, TAIL LIGHT HARNESS - LG UTILITY
ITEM PART NO. DESCRIPTION QTY.

1 0510-00137 TIE, CABLE W/#10 MOUNT HOLE 9" BLACK 2

2 0523-00032 SCREW, HEX - WHSD 1/4 X .75 ZN - - 8

3 0523-00168 SCREW, PHIL TRUSS HEAD-#10 X 1 3/4   LG STEEL ZINC PHIL TRUSS - 4

4 0606-00141 KIT, TAIL LIGHT 2

L0106-00233

ASSY, TAIL LIGHTS - CAR
ITEM PART NO. DESCRIPTION QTY.

1 0510-00137 TIE, CABLE W/#10 MOUNT HOLE 9" BLACK 2

2 0523-00032 SCREW, HEX - WHSD 1/4 X .75 ZN - - 8

3 0523-00168 SCREW, PHIL TRUSS HEAD-#10 X 1 3/4   LG STEEL ZINC PHIL TRUSS - 4

4 0606-00141 KIT, TAIL LIGHT 2

L0106-00247

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  53GEM Parts Catalog

ASSY, WIPER MOTOR WINDSHEILD WASHER
ITEM PART NO. DESCRIPTION QTY.

1 0518-00085 BUSHING, RUBBER 2

2 0519-00230 SPACER, SPECIAL NYLON 1

3 0523-00032 SCREW, HEX - WHSD 1/4 X .75 ZN - - 1

4 0610-00254 MOTOR, WIPER KIT - 1

5 0618-00434 GROMMET, SBR RUBBER - 5/8" ID X 1/8" GROOVE FOR 7/8" HOLE 1

* Starred parts are supplied with item # 4

L0106-00954

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  54 GEM Parts Catalog

ASSY, LICENSE PLATE MOUNT - FRONT
ITEM PART NO. DESCRIPTION QTY.

1 0521-00014 NUT, KEPS - 12 - 24 UNC ZINC PLATED GR 5 ZINC PLATED 2

2 0523-00134 SCREW, MACHINE #12-24 x 1 HEX SLOT HEAD 2

3 0305-01228 BRACKET, LICENSE PLATE - FRONT 1

ASSY, LICENSE PLATE BRACKET LIGHT - COMPLETE
ITEM PART NO. DESCRIPTION QTY.

1 0521-00014 NUT, KEPS - 12 - 24 UNC ZINC PLATED GR 5 ZINC PLATED 4

2 0523-00134 SCREW, MACHINE #12-24 x 1 HEX SLOT HEAD 4

3 0607-00164 KIT, LICENSE PLATE MOUNT / LIGHT 1

L1106-00084

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html


Page  55GEM Parts Catalog

ASSY, LICENSE PLATE REAR
ITEM PART NO. DESCRIPTION QTY.

1 0106-00688 ASSY, WIRE  HARNESS LICENSE LAMP GROUND 1

2 0106-00823 ASSY, WIRE HARNESS - LICENSE LAMP POWER 1

3 0305-00928 BRACKET,  LICENSE PLATE 1

4 0521-00050 NUT, HEX - NYLOCK 1/4-20 UNC GR5 ZN 2

5 0521-00317 NUT, KEPS - 8-32 ZINC PLATED GR 5 ZINC PLATED 2

6 0522-00333 BOLT, TORX - TRUSS HD - 1/4 - 20 X 1 - 18-8 S.S. 2

7 0523-00282 SCREW, MACH PAN HEAD PHIL 8-32 X 3/4 ZN 2

8 0606-00206 KIT, LICENSE PLATE LAMP 1

L0106-01101

888-239-4392
GEM Car Parts Direct

Click Here To Check For Parts

256 Highway 17 North, Palatka, FL 32177

http://gemcarpartsdirect.com/availability.html

